What does the term "RCC" signify?
Rescue Co-ordination Center.

Y10 o3HauyaeT TepmuH "RCC"?
CnacarenbHbin KoopanHaunoHHbIn LleHTp.

What does the term "Prudonce" signify?
Distress in force, but restricted working may be resumed.

YTo o3HauyaeT TepmuH "Prudonce"?
Bencteue B cune, HO orpaHNYeHHON paboTe MOXET BbiTb BO30OHOBMEHO.

What does the term "Seelonce Feenee" signify?
Normal working may be resumed.

YTo o3HauyaeT TepMuH "Seelonce Feenee"?
HopmanbHasa pabota MOXeT ObiTb BO30OHOBIIEHA.

What does the term "Seelonce Mayday" signify?
The Controlling station imposes silence on interfering stations.

Yto o3HauyaeT TepmuH "Seelonce Mayday"?
CTaHuus YnpaBreHus Hanaraet MoryaHue Ha BMELIMBaOLMECs CTaHLMN.

What does the term "Seelonce Distress" signify?
Any other stations impose silence.

Yto o3HayaeT TepMuH "Seelonce Distress"?
JTiobble gpyrve cTaHuumn HanararT MoNnYyaHue.

What does the term "AMVER" signify?
Automated Mutual Assistance Vessel Rescue System.

Yto o3HauaeT TepmuH "AMVER" ?
ABTOMaTM3NPOBaHHAs CUCTEMA CMaceHNs cCocyaoB.

The Selective Call Number for a Coast Station consist of?
Four digits.

M3bupaTenbHbin HoMmep anst beperosor CTaHUMmM COCTOUT U37?
YeTblpex undp.

Which signal indicates that an important meteorological or navigational warning is
about to follow?
SECURITE.

Kakol curHan ykasbiBaeT, YTO BaKHOEe MEeTeopOoriornieckoe Wnm HaBuraLyMoHHoe
npenynpexaeHne cobrpaeTcs nepefaBaTbca?
SECURITE.

What does CES abbreviation means?
Coast Earth Station.

Yto o3HauaeT CES abpeBunaTypa cokpalieHna?
BeperoBas 3emMHasi cTaHLMsI.

What does SES abbreviation means?
Ship Earth Station.

Yto o3HavaeT abbpesunaTypa CIM?
CynoBas 3eMHas cTaHuus.

What does SafetyNET abbreviation means?
The service which is used to broadcast Maritime Safety Information to ships.

YUto o3HavaeT abbpeBunaTypa SafetyNET?
Cnyx6a, koTopas ncnosnb3yeTcsi, AN Toro, YTobbl NnepeaaTs no pagmo NMHdopmaumo no
BesonacHocT MopennaBaHusl Ha cyaa.

Which of these numbers is the Inmarsat-A number?
Seven digits, beginning with 1.

Kakon 13 aTnx HomepoB sBnsieTca Homepom MiHmapcata-A?
Cemb undp, HaumMHasch ¢ 1.

Which of these numbers is the Inmarsat-B number?
Nine digits, beginning with 3.

Kakon 13 aTnx HomepoB sBnsieTca Homepom MiHmapcata-B?
[esaTtb undp, HauymHaach 3.

Which of these numbers is the Inmarsat-C number?
Nine digits, beginning with 4.

Kakow 13 atnx HomepoB siBnsgeTcst Homepom MHmapcaTta-C?
[eBatb ungp, HavymHasCh 4.

Which of these numbers is the Inmarsat-M number?
Nine digits, beginning with 6.

Kakon n3 atux Homepos saBnsieTcs Homepom ViHmapcaTta -M?
[eBatb ungp, HaumHasCh 6.

What does the abbreviation DER mean using NBDP (telex)?
Out of order.

YT0 03HavaeT abbpesmnatypa DER, ucnonbdys NBDP (tenekc)?
Bbllwen n3 cTpos.

What does the abbreviation GA+ mean using NBDP (telex)?
Go ahead.

Yto o3HauaeT abbpeBunaTtypa GA +, ncnonedyst NBDP (Tenekc)?
PaspelleHue.

What does the abbreviation MOM mean using NBDP (telex)?
Wait/ Waiting (a moment).

YT0 03HauyaeT abbpesmatypa MOM, ncnonb3ys NBDP (Ttenekc)?
Oxuganve / OxugaHve (MrHoBeHue).

What does the abbreviation NDN mean using NBDP (telex)?
Non-delivery notification.

Yto o3HauvaeT abbpeBmaTtypa NDN ¢ ncnonssosaHmem NBDP (Tenekc)?
YBeaoMreHne o HeJOCTaBKe.

What does the abbreviation WRU mean using NBDP (telex)?
Who is there / Who are you?

YT0 03HauaeT abbpeBmatypa WRU c ncnons3osaHnem NBDP (tenekc)?
KTo ectb / K10 TbI?

What information is available from SafetyNET transmissions?
Maritime Safety Information.

Kakyto nHcpopmaumo MoxHo nonyunTb n3 nepenay SafetyNET?
MHdopmaumo o 6e30nacHOCT Ha Mope.




What information is considered to be unscheduled SafetyNET broadcast?
Urgent navigational warnings, severe weather warnings and distress alert relays.

Kakasi nHdhopmauusa cuntaeTcst HesannaHMpoBaHHOW peTpaHcnaunen SafetyNET?
CpO‘-IHbIe HaBuUrauynoHHblE npenynpexneHuns, cepbe3Hble NoroaHbie npeaynpexaeHna mn
npeaynpexaenns o 6eaCTBUN.

What does the category code "00" denote in NAVTEX messages?

Messages of singular importance, such as an initial distress message.

024 What Inmarsat satellite communications system has an Enhanced Group Call
(EGC)?

Inmarsat-C sat communications system.

Yto o3HavaeT koA kaTeropum "00" B coobeHnsax NAVTEX?
CoobLeHnsa ocobon BaXXKHOCTU, Takne kak mepBoHavanbHoe coobleHre o 6eacTBumn.

What Inmarsat satellite communications system has an Enhanced Group Call
(EGC)?
Inmarsat-C sat communications system.

Kakasi cuctema cnyTHMKOBOM cBA3M Inmarsat nmeeT paclumpeHHbi rpynnoson Bei3oB (EGC)?
Cuctema cBssun «MHmapcaTt-Cy.

What categories of messages cannot be rejected using the NAVTEX receiver
controls?
Navigation warnings.

Kakne kaTeropmm coobLLeHNn He MOryT BbITb OTKMIOHEHbI C MOMOLLbIO 3NIEMEHTOB YrpaBneHns
npuemHnkom NAVTEX?
HaBuraumoHHble npeaynpexaeHus.

All NAVTEX messages are prefixed by a:
4-character group.

Bce coobuwenns NAVTEX umetoT npedukc a:
4-cumBOnbHas rpynna.

What does the EPIRB signal indicate?
That one or more persons are in distress that they may no longer be on board a ship
or aircraft and that receiving facilities may no longer beavailable.

Yro nokasbiBaeT curHan EPIRB?
ToT oanH nnu Gonblue niogen Haxoasawmxcs B 6e4CTBMM, YTO OHM BonbLUE HEe MOTYT ObITb Ha
OopTy cygHa unu camorneTa 1 YTo NogpobHOCTU BonblUe He MOryT ObITb 4OCTYMHbI.

Who is responsible for ensuring that your EPIRB is registered?
The relevant authority in the flag State.

KTo HeceT OTBETCTBEHHOCTb 3a perucrpaumto Bawero APE?
MpegcTaButens cygosnagensua.

On vessels being sold to new owners, the EPIRB:
Must be re-registered.

Ha cygax, npogaBaembix HOBbIM Bragensuam, APB:
[omxeH bbITb Nepe3aperncTpupoBaH.

How often is it recommended to fulfill EPIRB test procedure?
Monthly.

Kak yacto pekomeHayeTCs BbINONHATL Npoueaypy TectuposaHus EPIRB?
Exxemecsa4yHo.

What is the purpose of a SART?
To home SAR units to the position of a person in distress.

031 Yto asnsetca uenbto SART?
K gomawHnum SAR mogynsim K no3uuunm Yenoseka B 6e4CTBUN.

What test should be carried out daily?
DSC - Without radiation - Use built-in test facility.

Kakonm Tect cnegyeT NnpoBOAWTb €XeAHEBHO?
DSC - bes nany4yeHus - Vicnonb3yoT BCTPOEHHOE UcMbITaTenbHOe CpeacTBo.

What test should be carried out weekly?
DSC - Live call to coast station.

Kakoe ncnblTaHne JomkHO ObITb BLINMOTHEHO €XeHeaernbHO.
DSC - npsimoii BbI30B 6GeperoBor CTaHUUu.

What test should be carried out monthly?
Survival craft VHF - not on channel 16, SARTSs, EPIRBs.

Kakon Tect cnegyeT NpoBOANTb €XEMECAYHO?
aBapuiHble YKB - He Ha kaHane 16, SARTs, EPIRBs.

State the Areas covered by the Inmarsat satellite system.
Sea areas between parallels 70 N and 70 S.

YKaxute panioHbl, OXBa4YeHHble CryTHMKOBOMW cuctemon NHmapcar.
Mopckue paroHbl mexay napannensamu 70 N 70 S.

State the meaning of the abbreviation NCS which is used within the Inmarsat
communications system.
Network Co-ordination Station.

Cdbopmynupynte 3HaveHne abbpesnatypbl NCS, koTopast UCMonb3yeTcs B CUCTEME CBS3U
Inmarsat.
CeTeBas KOOpANHALMOHHASA CTaHUUS.

State the meaning of the abbreviation MES which is used within the Inmarsat
communications system.
Mobile Earth Station.

Cdbopmynupynte 3HaveHne abbpesunatypbl MES, koTopasi UCNonb3yeTcs B
KOMMYHVKaLMOHHOM cucTteMe Minmapcar.
MobunbHasa 3emHasa CtaHuums.

How would you define Sea area A1?
An area within the radiotelephone coverage of at least one VHF coast station in
which continuous DSC alerting is available.

Kak Bbl onpegenvnu 661 Mopckyto panoH A1?
ParioH BHYTpK 30HbI AENCTBUSA pagnoTenedoHa No MeHbLLEN Mepe 0gHOM GeperoBomn
cTaHumm OBY, B KOTOpOW 4OCTYNHO HenpepbiBHOe onoBelleHne DSC.




How would you define Sea area A2?
An area, excluding sea area Al, within the radiotelephone coverage of at least one
MF coast station in which continuous DSC alerting is available.

Kak Bbl onpegensiete Mopckown parioH A2?

PanoH, nckntodasa mopckon panioH A1, B npefenax 3oHbl 4eWCTBUS paguoTenedoHa no
MeHbLUen mepe ogHon 6eperoeoi ctaHuun MF, B KOTOpOW JOCTYNHO HEMPEpPbIBHOE
onoseLlleHne DSC.

How would you define Sea area A3?
An area excluding sea areas Al and A2, within the coverage of an INMARSAT
geostationary satellite in which continuous alerting is available.

Kak Bbl onpeagensiete Mopckown pavioH A3?
ParioH, nckntovasa mopckme panioHsl A1 n A2, B npegenax oxsarta reoctauyMoHapHOro
cnytHuka INMARSAT, B KOTOPOM MMEETCHA HEMPEPbIBHOE OMNOBELLEHNE.

How would you define Sea area A4?
An area outside sea areas Al, A2, A3.

Kak Bbl onpepensete Mopckown pavioH A4?
ParioH 3a npegenamu mopckux panoHos A1, A2, A3.

State EPIRB frequencies.
406 MHz,121.5 MHz,156.525MHz.

NpmeHsiemble yacTtoTel APB.
406 MHz,121.5 MHz,156.525MHz.

What is the DSC distress/safety frequency in 2 MHz band?
2187.5 kHz

Yto Takoe yactoTta 6encteus LB / 6e3onacHocTn B nonoce 2 MIMu?
2187.5 kHz

Which channel is used for DSC distress and calling on VHF?
VHF channel 70.

Kakon kaHan ncnonb3yetca ansa 6eactens LIMB n BoizoBa Ha OBY?
OBY-kanan 70.

On which MF/HF DSC frequency must a watch always be maintained?
2187,5 kHz+8414,5 kHz+ also on at least one of the distress an safety DSC
frequencies 4, 6, 12, or 16 MHz.

Ha kakon yactote DF MF / HF gomkHbl BCcerga nogaepmBartbCs Yachl?
2187,5 kl'y, + 8414,5 kl'y, + Takke N0 MeHbLLEN Mepe Ha ogHOM 13 GeacTBUN, Ha Ge3onacHbIX
yactotax DSC 4, 6, 12 nnn 16 Mlu.

On which international frequency is NAVTEX transmitted?.
518 kHz.

Ha kakown mexagyHapogHon YactoTte nepegaetcs HABTEKC 2.
518 kHz.

What is the relationship between frequency, wavelength and the speed at which a
radio wave travels?
L=C/F.

Kakas cBsi3b Mexay 4acTOTOW, AMMHOW BOMHbI M CKOPOCTbLIO pacnpoCcTpaHeHns paanoBonH?
L=C/F.

What is meant by the term "Skip distance"?
Distance between transmiter and place of falling of radio wave reflected from
ionosphere on earth surface.

UT0 noHMmaeTcsa noa TepMuHoM «ponycTuts pacctosHme»?
PacctosiHue mexay nepegaTynkom M MECTOM NafeHUs paanoBOSHbl, OTPaXXEHHON OT
MoHocdepbl Ha 3eMHOV NMOBEPXHOCTM.

What is meant by the term MUF?
Maximum usable frequency.

YT0 nmeetcsa B Buay nog repmmHom MUF?
MakcrmansHasa ucnonb3dyemas yacrorTa.

What does H3E signify?
SSB Full-carrier telephony.

Yto o3HauvaeT H3E?
SSB lNonHaga TenecoHus.

What does F1B signify?
Telex.

Yt0 0o3HavaeT F1B?
Telex.

What does J3E signify?
SSB Suppressed-carrier telephony.

YT0 03HavaeT J3E?
SSB TenedoH ¢ nogaBneHHON HeCyLLen.

What does F3E signify?
Frequency-modulated telephony.

Yt0 o3HavaeT F3E?
YacToTHO-MoaynnpoBaHHas TenedoHus.

Which mode of emission should be used on an MF R/T working frequency?
J3E.

Kakon pexxmm nany4eHusi cnegyet ucnosnb3oBaTb Ha paboyen yactote MF R/ T?
J3E.

Which mode of emission should be used on an MF telex frequency?
F1B/J2B.

Kakow pexxum nsnyveHus cnegyet UCMNonb3oBaTh Ha YactoTe Tenetanna MF?
F1B/J2B.

Which mode of emission should be used on an HF R/T working frequency?
J3E.

Kakon pexxmm nany4eHust cnegyeT mucnornb3oBaTh Ha paboyen yactote HF R/ T7?
J3E.

Which mode of emission should be used on Channel 16?
G3E/F3E.

Kakow pexxum nsnyveHus cnegyet UCMNOMnb3oBaTh Ha kaHane 167
G3E/F3E.




What do 002321000 signify?
MMSI of coast station, or group coast stations.

YT0 03HauvaeT 0023210007
MMSI 6eperoBow cTaHUUM N 6eperoBbIX CTAHLWUIA FPYMbI.

What do 232100000 signify?
MMSI of ship station.

Yto o3HavaeT 2321000007
MMSI cygoBon cTaHumun.

What do 023210000 signify?
MMSI of group of ships.

Yto o3HavaeT 0232100007
MMSI rpynnbl cygoB.

Which of the following is a MMSI number used in a DSC controller for a Ukrainian
registered ship?

Yto u3 cniegytoulero siensetcs Homepom MMSI, ucnonb3yembim B koHTponnepe DSC ans
3aperncTpupoBaHHoOro B YkpavHe cygHa?

272182000. 272182000.
What would be the Inmarsat-C number for the vessel? Kakum 6ynet Homep Inmarsat-C ans cygHa?
423200176. 423200176.

What is the purpose of the 2177 kHz frequency?
It is used intentionally for ship/ship calls and for shore/ship calls.

KakoBa uenb yactotbl 2177 klu?
OHa ncnonb3yeTcs HaMepPEHHO ANs CBA3W CyAHO / cyaHO n Ans cea3u beper / cyaHo.

What is the purpose of the 2187.5 kHz frequency?
It is used for distress/safety.

KakoBa uenb 4yactotbl 2187,5 kl'u?
OHa ncnonb3yeTcsa ansa 6ecteuns / 6e3onacHocTu.

What is the purpose of the 2189.5 kHz frequency?
It is used intentionally for ship/shore routine calls.

KakoBa uenb 4yactoTtbl 2189,5 kl'u?
OHa ncnonb3yeTcs Ans BbI30BOB CyAHO / Beper.

What is the purpose of the 8414.5 kHz frequency?
It is used for distress /safety.

KakoBa uenb 4yactoTtbl 8414,5 kl'u?
OHa ncnonb3yeTcs ansa 6eacTeus / 6e30nacHoOCTU.

What is the purpose of the channel 70 frequency?
It is used for distress/safety and routine calls.

KakoBa uenb 4YactoTtbl kaHana 70?
OHa 1cnonb3yeTcs Ans Bbl30BOB 6ecTBMS / 6€30MacHOCTM U 00bIYHbIX BbI3OBOB.

How often is a live DSC test required to be made?

Kak yacto Hy>xkHO npoBoauTb TecTt DSC?

Weekly. E>xeHepenbHo.

How often is an internal DSC test required to be made? Kak yacto Tpebyetcsa BHyTpeHHUn Tect DSC?

Daily. ExxepHeBHO.

If no acknowledgment is received on DSC following an alert, how often will the alert | Ecnun nocne DSC He nony4veHo noaTeepxaeHne o DSC, kak yacto OyaeT NoBTOpATLCA
be repeated? npegynpexagexHue?

Every 3,5 to 4,5 minutes at random.

Kaxable 3,5-4,5 MUHYTbI Hayrag,.

When would such mode of operation as FEC Collective be used?
For transmission to "All Stations".

Korga 6yget ucnonb3oBaTtbes Takon pexum paboTsl, kak FEC Collective?
[na nepegayn Ha «Bce ctaHumny.

When would such mode of operation as ARQ be used?
For communication between two stations.

Korga 6yaeT ucnonb3oBaTtbCs Takow pexum paboTsl, kak ARQ?
[nsa cBa3v mexay ABYMS CTaHLMSMU.

When would such mode of operation as FEC Selective be used?
For transmission from one station to another, specific, station.

Korga 6yget ucnonb3oBaTbCs Takon pexxum paboTsl, kak FEC Selective?
[ns nepegayv OT OAHOW CTaHUMW K APYron, KOHKPETHOM CTaHLUUM.

When would SELCALL be used?
For calling by TOR (Telex over Radio)

Korga SELCALL 6ygeT ucnonb3oBaTbcs?
[ns BeizoBa TOR (Tenekc no pagmo)

Where can details of a coast station's Telex frequencies be found?
In the List of Coast Station.

['oe MOXHO HaTK AaHHblE O YacToTe TeNnekcoB GeperoBoy CcTaHumMm?
B cnucke 6eperoBon cTaHumu.

What is meant by 3220 Auto G?
Answerback of shore station of TOR communication.

Yto nogpasymesaetca nog 3220 Auto G?
OtBeT Ha beperoByto cTaHumio cea3m T3.

What is meant by 64523 GBUF X?
Ship's station answerback.Send a radiotelegram."Go ahead"

Yto o3HavaeT 64523 GBUF X?
OTtBeTHas peakuums ctaHumn.079 Yto osHavaet GA + 2.

What is meant by GA+?
Send a radiotelegram. "Go ahead"

Yto o3HauaeT GA + ?.
OtnpaBbTe paguotenerpammy. "Go ahead"




What is meant by KKKK?
Clear connection with land subscriber.

Yto Takoe KKKK?
UeTkoe coefuHeHne ¢ abOHEeHTOM 3eMiun

What is meant by BRK+?
Break radio connection with coast station.

Yt0 Takoe BRK +7?
Pas3pblB pagnocesiav ¢ 0eperoBori cTaHUMEN.

What is meant by DIRTLX?
Direct telex line to subscriber is required.

Yto o3HavaeT DIRTLX?
TpebyeTcsa npsimast TenekcHas NHUS abOoHEHTY.

What is meant by J2B?

YTto nogpasymeBaetcs nog J2B?

SSB Telex. SSB Telex.
What code is used to obtain a weather report by telex? Kakon kop, ncnonb3dyetcs Ans nonyvyeHns MeTeoCBOAKM NO Terekcy?
WX. WX.

What code is used to obtain a list of current navigational warnings by telex?
NAV.

Kakon kop ncnonb3dyetcs Ans nonyvyeHns Cnucka TeKYLUX HaBUrauMOHHBIX NPpeaynpexaeHnn
no Tenekcy?
NAV.

086 What code is used to send a weather report by a radiotelex?
OBS+.

Kakow kog ncnonb3yeTtcs Ans oTNpaBkyM METEOPOSIOrM4ecKoro otyeTa paguotenedoHom?
OBS+.

What does the distress signal MAYDAY mean?
That the vessel and crew are threatened by immediate destruction.

Yt0 o3HavaetT curHan 6egctema MAYDAY?
YTto Cy,EI,HO N SKUNAaX HaxoadTcd noa prO3OI7I HemeaneHHoro yHVNTO)KeHVIFL

State the urgency signal.
PAN PAN.

CdhopmynupyiTte curHan CpoYHOCTH.
PAN PAN.

What does the Safety signal indicate?
That an important meteorological or navigational warning is about to follow.

YTo o3HavaeT curHan Safety?
OT0 Ba)KHOE METEOPONIONMYECKOE UM HAaBUrAUMOHHOE NpeaynpexaeHve.

State the safety signal.
Securite.

CdhopmupyinTe aBapuinHbIA cUrHan.
Securite.

In which publication can Coast station traffic lists be found?
ITU List of Coast Stations.

B kakoi nybnukauum moryT 6biTb HangeHsl traffic lists 6eperosoii ctaHumMm?
ITU Cnncok 6eperoBbix CTaHLMNA.

In which publication can Charges for foreign stations be found?
ITU List of Coast Stations.

B kakoi nybnukaumm moryTt ObiTb HangeHbl cOOpbl MHOCTPaHHbIE CTaHLMA?
ITU Cnnvcok 6eperoBbix CTaHUMWNA.

In which publication can Times of weather bulletins be found?
ITU List of Radiodetermination and Special Service Stations.

B kakoi nybnukauum MoxxHo HanTu Times GronneTeHen norogbl?
ITU Cnncok cTaHumnn paguoonpegenexus n cneuyuanbHbelx cnyx6 MC3.

In which publication can Ship's AAIC be found?
ITU List of Ship Stations.

B kakon nybnvkauumn moxeT 6bITb HangeH cygoson AAIC?
ITU List cyqoBbIX CTaHLMIA.

In which publication can Inmarsat CESs be found?
ITU List of Coast Stations.

B kakou nybnukaumm moxHo Hantn CES MHmapcat?
ITU Cnucok 6eperoBbix CTaHUMWN.

In the GMDSS, how can MSI be received?
By NAVTEX, EGC, HF NBDP.

B GMDSS, kak moxeT MSI 6bITb NONyYeHHbIM?
By NAVTEX, EGC, HF NBDP.

In which frequency band do radar transponders transmit?
In the 9 GHz band.

B kakon nonoce 4actoTbl TPAHCMOHAEPLI pagapa nepegarT?
B nnannasone 9 GHz.

What does the urgency signal consist of?
Of the group of the words PAN PAN.

M3 yero coctout curHamn cpovyHocTm?
M3 rpynnbl cnos PAN PAN.

What does the safety signal consist of in direct printing telegraphy?
Of the word SECURITE.

YT0 npencTasnsieT cobon curHan 6e3onacHOCTH, COCTOSALMI B NMPSIMON NeYaTHON
Tenerpadcpun?
3 cnosa SECURITE.

A drifting container was observed, what kind of message is to be broadcasted?
A safety message.

Habntogancsa apendyowmnin KOHTENHEp, Kakoe coobLLeHMe JOMKHO TPaHCIMPOBaTLCA?
Coo0bLLeHne o 6e30nacHoOCTM.




By what means and in which frequency bands can a safety message be
announced?
By using DSC on one or more of the distress and-safety frequencies.

Kaknm ob6pa3om u B KakMx gnanasoHax 4acToT MOXeT ObITb 06bsIBIIEHO COObLLEHNE O
©e3onacHocTn?
Ncnonb3ys DSC Ha ogHOW MW HECKONbKUX YacToTax 6eacTBust 1 6e30MnacHOCTU.

On which VHF channel can a coast station be called by means of DSC for a routine
call?
On channel 70.

Ha kakom kaHane YKB MoXeT Bbl3biBaTb GeperoByto cTaHumio ¢ nomolbio DSC ans
00bIYHOrO BbI3OBA?
Ha 70 kaHane.

How can a satellite EPIRB be activated?
Manually (in case of distress) or automatically (if the vessel is sinking).

Kak aktmBmpoBaTh cnyTHUKkoBbIn EPIRB?
BpyyHyto (B cnyvae 6eacTBMSA) UM aBTOMATUYECKM (ECNU CYOHO TOHET).

Whom shall ship station or ship earth stations inform immediately of the receipt of a
distress alert and its contents?
The master or person responsible for the ship.

Komy cynoBble cTaHUMM Uy Cya0Bbl€ 3eMHble CTaHLMN HEMEAIEHHO COOBLLAKOT O NONyYeHun
curHana 6e4CcTBMSA 1 ero CoaepXnmoro?
KanuTaHy nnuv 4YenoBeky, OTBETCTBEHHOMY 3a CYAHO.

What type of radio wave is propagated on VHF?
Line-of-sight wave.

Kakow Tvn pagnoBonH pacnpocTtpaHsetca Ha OBY?
JIHMA NpsiMori BUAMMOCTMW.

What is the main factor which determines the range of transmission on the marine
VHF band?
Suspension heights of antennas.

KakoB rmaBHbIN hakTop, onpedenstowmii AmanasoH nepegadn Ha mopckon OBY-nonoce?
BbICOTbI yCTAHOBMNEHHOW aHTEHH.

What is meant by the term AGC?
Automatic Gain Control.

Yto noHnmaeTcs nog tepmmHom AGC?
ABTOMAaTUYECKNIA KOHTPOIb YCUNEHMS.

What is the maximum power output that should be used to make a routine call on
channel 70 addressed to "All Ships"?
The power should not exceed 1 W.

KakoBa MakcMMarbHasi BbIXOAHasi MOLHOCTb, KOTopasi A0SKHa MCMNOMb30BaTbCsA OIS
BbINONIHEHNS BbI30Ba Mo kaHany 70, agpecoBaHHoOro «Bcem cygam»?
MowHocTb He gormkHa npesbiwaTtb 1 BT.

What does a distress alert consist?
Format specifier, self identification, nature of distress, position, time, type of
subsequent communication.

M3 Yero coctout curHan 6eacteua?
Cneundmkatop doopmaTa, caMoMaeHTMdNKaUms, xapaktep 6eACTBuUS, NONOXEHNE, BpeMS,
TUN Nocrefyowen cBasu.

What time is kept in the ship's radio log book?
UTC.

Kakoe Bpemsi ykasbiBaeTCsi B CyJOBOM pajo XypHane?
UTC.

When at anchor within port limits, a vessel may use the radiotelephone to
communicate with:
The Local Coast Station on VHF.

Kor,ua CyAHO HaxoauTca Ha dkope B npeaenax noprta, CygHO MOXeT UCMOoJ1b30BaTb
paguoTenedoH Ans CBA3N:
MecTtHas 6eperoBas ctaHums Ha YKB.

The radiotelephone public correspondence service at sea should, if possible, be
operated:
On a duplex basis.

PagunoTtenedoHHas cnyxba obLLeCTBEHHOW KOPPECNOHAEHLNN B MOPEe AOMKHa, No
BO3MOXXHOCTU, 3KCNJ1yaTUpoBaTbCA:
Ha gynnekcHOW OCHOBeE.

What is a Traffic List ?
A list of ships names/call signs for whom a Coast Station has telegrams, telephone
calls or telex messages.

Yto Takoe Traffic List?
Cnuncok HasBaHuIA cyaoB / MO3bIBHbIX, 45151 KOTOPbLIX OeperoBasi CTaHUMst UMEET Ternerpammbl,
TenedOHHbIe 3BOHKM UIW TEeNEeKCHble COObLLIEHMS.

The meaning of the Abbreviation or Service Indicator RTL is:
Radio telex letter.

YT0 03HauaeT cokpaleHHme abpuaTypbl RTL:
CumBon Paguo-tenekca.

Which channel is used for ship-to-ship alerting on the VHF band in the GMDSS

Kakow kaHan ucnonb3yeTcs Ans onoBeLleHus cyaHa o cyaHe B AnanasoHe OBY B cucteme

system? MCCB?

70. Kanan 70.

Which frequency is used for ship-to-shore alerting on the MF band in the GMDSS Kakas yacToTa ucnonb3yeTtcs npu onoseLleHnn cyaHo-6eper Ha nonoce MF B cucteme
system? GMDSS?

2187.5 kHz.

YacTtoTa 2187.5 kHz.




Which radioequipment is not necessary for the ships sailing in the sea area A4?
Inmarsat SES.

Kakoe pagmnoobopyaoBaHue He TpebyeTca Anga Cy4oB, NnaBakwmnx B akBatopumn A4?
Inmarsat SES.

Which radioequipment is not necessary for the ships sailing in the sea area A2?
Telex (NBDP).

Kakoe pagnoobopynoBaHue He TpebyeTcs Ans CyAoB, NnaBatlLmx B akBaTopum A27?
Telex (NBDP).

What types of EPIRB can be used in sea area A4?
Cospas/Sarsat only.

Kakne tunbl EPIRB mMoryT ncnonb3oBaTtbCsi B MOPCKOM panioHe A4?
Tonbko Cospas/Sarsat.

Which frequency does Inmarsat-E EPIRB use for transmission of distress signals?

Kakyto yactoTy ncnonbsyet pagmocTtaHums Inmarsat-E EPIRB ans nepegaym curHanos

1.6 GHz oencTBuA?

1.6 GHz
What modes of communication can be used in Inmarsat-C system? Kakne cnocobbl CBA3U MOXHO uUcnonb3oBaTb B cucteme Inmarsat-C?
Telex. Telex.

Which Inmarsat Mobile Number belongs to a Inmarsat-C ship earth station?
459291300.

Kakor mobunbHbIn Homep Inmarsat npuHagnexuT HazemHou ctaHumm Inmarsat-C?
459291300.

Which Inmarsat Mobile Number belongs to a Inmarsat-A ship earth station?
1405201.

Kakon mobunbHbIn HoOMep Inmarsat npuHagnexuT HasemHou cTaHumm Inmarsat-A?
1405201.

Which address must you type to send message from your Inmarsat-C terminal to
another Inmarsat-C ship station?
Telex ocean region access code + IMN.

Kakon agpec Bbl 4OMKHbI BBECTU, YTOObLI OTNPaBMTb COOBLLEHWE C BaLLEro TepMuHana
Inmarsat-C Ha gpyryto cygoByto ctaHumio Inmarsat-C?
Telex pernoH okeaHa kog goctyna + IMN.

Are VHF radio waves reflected by the ionosphere?
Not reflected.

OTtpaxatoTtcsa nm pagroBonHbl YKB B noHocdepe?
He oTpaxaeTcs.

Which currencies must be used in international charging for radiocommunication?
SDR and Gold Franc.

Kakve BantoTbl OMKHBI MCNOMB30BaTLCA NPU MEXAYHApOAHOW onnaTte paguoceasn?
SDR v 30110101 (hpaHK.

Should lead batteries and Ni-Cd batteries be located in the same battery room?
No.

HormkHbl N 6aTtapen n HUKeNb-KaaMUeBble baTapen HaxoaAUTbLCS B OAHOM U TOM Xe
nomeLleHnn?
HeT.

What is the minimum operation time of reserve source of energy on ships without an
emergency energy source?
6 hours.

KakoBO MMHUManbHoe Bpemsi paboThl pe3epBHOrO MCTOYHUKA aHEpPruM Ha cyaax 6es
aBapUNHOIO NCTOYHMKA HEPTNNT?
6 Yyacos.

What is the minimum operation time of reserve source of energy on ships with an
emergency energy source?

KakoBoO MMHUManbHoe Bpems paboTbl pe3epBHOIO UCTOYHUKA SHEPTNM Ha Cygax C aBapUnHbIM
NCTOYHWUKOM 3HEeprum?

1 hour. 1 yac.

A crewmember is badly injured, and you want him to be taken ashore. The UneH akunaxka TSXeno paHeH, U Bbl XOTUTE, YTOObI ero BbiBe3nu Ha Geper. Npoueanypa 6yaet
procedure will be: cnepywoLlen:

Urgency. Urgency.

EGC has to do with: EGC umeeT oTHOLLEHNME K:

INMARSAT. INMARSAT.

SAFETYNET has to do with: SAFETYNET MMeeT OTHOLLEHME K:

INMARSAT. INMARSAT.

The calling system may be used for calls ship-ship, ship-coast and coast-ship.
Which system is it?
DSC.

BblI3biBatoLLiasi cMcTeMa MOXET UCMNONb30BaThCs Asi BbI30BOB CY4HO-CYAHO, CyaHO-6eper 1
Beper-cygHo. Kakas ato cuctema?
DSC.

What does the urgency signal indicate?
That a very important message concerning the safety of a ship, aircraft or other
vehicle, or safety of a person is to follow.

YTto 03HayaeT curHan cpo4yHoCTn?
OuyeHb BaxkHOe coobLLeHne 0 6e3onacHOCTM cyaHa, caMmorieTa Unm gpyroro TpaHCnopTHOMO
cpeacTBa, unv 6e3onacHOCTb YenoBeka AoMKHa cneaoBathb.




What does the term "TR" signify?
Transit Report.

YT0 03HayvaeT TepMuH « TR»?
OT4eT 0 TpaHsuTe.

What does the term "TR" consist of?
It consists of the name and call sign of the ship, its position, course and speed, if
possible, its destination.

M3 yero coctout TepMmmH « TR»?
OH coCcTOUT U3 Ha3BaHUSA 1 NO3bIBHOIO CyaHa, ero MecTtonosioXxeHud, Kypca n CKOpoCTu, ecrnu
3TO BO3MOXHO, MECTa HasHa4YeHus.

1. The distress call in radiotelephony (RT) consists of:
Bbi3oB 6eacTBus — nepBuYHasi npoleaypa onoselleHus o 6eactemm B
TenedoHUN UnNn B TEKCTOBOM BUAE.

MAYDAY - 3 times

THIS IS

SHIPS NAME - 3 times

CS or other ID

MMSI (after the Distress Alert)
(For CH16 and 2182 khz

2. The distress message in RT consists of:
CoobLieHne o 6egcTBumn — nepegaeTcs cpasdy nocne BbidoBa 6eACTBMA U
COAEpPXUT NoapodHyo nHdopmaumio o xapaktepe 6eacTBusA 1 BUae
Tpebyemon nomoLLm.
C curHana 6eacteust MAYDAY O0mKHbI HaYMHaTLCS BCce coobLeHus,
OTHOCsILLMECS K MOMCKOBO-CMNacaTenbHbIM onepaumsm

MAYDAY

SHIPS NAME

CS or other ID

MMSI (after the Distress Alert)
POSITION

NATURE OF DISTRESS
ASSISTANCE REQUIRED
ANY OTHER INFORMATION
OVER




